UTT0o
Math 11 Quadratics #2 — Review #2 M_

1. What is different about these two graphs?
a) Domain b) Range

d) Stretch Factor

2. y=a(x-h’+k Which graph has a change in “h™ only?

*#% Use the following equation for questions (5-7): % (y-3)=(x+4¢

ves the graph:

b) left/right ¢) and stretches it d) and reflects it in the x-axis
6. The “4” moves the gr:
a) up/down (b) left/ri ) ¢) and stretches it d) and reflects it in the x-axis

7. The“%”:
a) moves the graph up/down b) moves the graph sideway:

sgc) stretches the graph Jd) flips the graph

8. The parabola shown in the diagram has its x-intercepts at (-3, 0) and (11, 0). Which one of the
following “could” be the vertex:

SKETCH:

) (8,-2) d) (7,4)
A\ler&ge of X-values ¢
—3eit= g =0,2)

28

3. y=a(x-h’+k

4. y=a(x-hPF+k Which graph has a change in “a” only?

9. A ballis kicked and its graph is defined by - é (y—-20)=(x—6)>. What is the maximum height?
o
How long does it take to reach the maximum height? m @ \[e \r—\—ex o

b)5m 65 c)20m S5s d) 6m 20s (%’120)

£ Sy
T
10. Which of the following equations could be used to find the area, if you had 200 m of material to
construct a fence around the following area? P=200m
a) y=(200-x)(x) b) v=(100 - 2%)(x) P x hetx=width
- —ox= le
(@ y-ew-200) & y=(100-0Cx) 200-2x= length
T AR T ]
*#% A rocket is launched and its path is defined by h = -4¢> + 40t. Use this equa(it-n‘t@ a;s&g\’(( - 13))
h=-HtHot

11. What is the maximum height of the rocket?
a) 40m b) 160 m <) 10m

12. How much time would it take the rocket to hit the ground 2O

(a) 10 seconds b) 5 seconds ¢) 4 seconds

13. How high would th be after 3 seconds? * Vertex (5) | OO)
a) 40m (o) s4m) ) 156m ) 100m 1

h=-H(D*H0B)  Tmety Max
= "H(4) +120 reach Heght
h= =3G+\20 nqéax.

h= g4™m ‘Llai’\f




14.1f y=3(x v2)z + 1 was placed in general form, it would be:

-y =S
=35(-2)(%-2) + 1
y= (Bx-6) -2+
V:&x’“-— Gx=ex+12+|
N = I-12X+13

152y =(x-17 (TF)

Vertex 12 )

Direction SDawnward
Stretch Fastor &9
Axis of Symmetry =24
Dormain

Range = - )BSR}

163y-2=¢ => 3(y-2)= (x-0)* (Tr)
Vertex: !'2 )
Diresion_Lp(aed
Stretch Factor 'l -)
Axis of Symmetry X = O

Domain R
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